
Multiplication by 1-digit Number (Without Carrying) 

1. 132 × 2 = ___________ 

2. A tray has 121 apples. There are 3 trays. 

How many apples in total? ___________ 

3. Multiply using place value: 

100 × 2 = ___ 

30 × 2 = ___ 

2 × 2 = ___ 

Add all: ___________ 

4. Tick the correct answer 

241 × 3 = 

(a) 723 

(b) 742 

(c) 721 

5. Match the multiplication 

(a) 123 × 2    (i) 604 

(b) 211 × 3   (ii) 246  

(c) 302 × 2   (iii) 633  

6. Fill in the blanks 

124 × 3 = ___ 

100 × 3 = ___ 

20 × 3 = ___ 

4 × 3 = ___ 

Add all = ___________ 



7. One pack has 106 cupcakes 

How many in 2 packs? ___________ 

8. Multiply and write the product 

345 × 2 = ___________ 

9. Tick the correct one 

213 × 2 = 

(a) 426 

(b) 436 

(c) 412 

10. Ria bought 3 sets of pencils. Each set has 112 pencils. 

Total pencils = ___________ 

11. Write and solve 

305 × 2 = ___________ 

12. Choose the correct pattern 

105 × 2 = ___ 

106 × 2 = ___ 

107 × 2 = ___ 

13. Draw base blocks: 

Use 100-block + 10-rods + 1s 

Show 121 × 2 = ___________ 

14. Each box holds 213 juice packs 

How many in 2 boxes? ___________ 

16. Fill in: 

132 × 2 = ________. This means 132 added ___ times. 


